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  RF (A) - 1029  

 /

 10 × 1 = 10 

1.  

(A)  

(B)  

(C)  

(D)  

2. ( Propanol )  ( Propanal )  

(A) — OH    — CHO 

(B) — OH    — COOH 

(C) — CHO    — COOH 

(D) — CHO    — CO 

3.  

 

(A) Q    S    R    P 

(B) P    Q    R    S 

(C) S    R    Q    P 

(D) P    R    S    Q 
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4. 27  

 

(A) 6  (B) 3  

(C) 9  (D) 27   

5.  

 (A) BaCl
2

 + H
2

SO
4

    BaSO
4

 + 2HCl 

 (B) MnO
2

 + 4 HCl    MnCl
2

 + 2H
2

O + Cl
2

 

 (C) 2 NaOH + H
2

SO
4

    Na
2

SO
4

 + 2H
2

O  

 (D) AgNO
3

 + HCl    AgCl + HNO
3

 

6.  

(A)  

(B)  

(C)  

(D)  

7. 

F =   C =   P = 

(A) C F  (B) C  

(C) P F  (D) F  
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8. X 2, 8, 8, 1 Y  2, 8, 7 

 

(A)   

(B)  

(C)   

(D)  

9.  

(A)  

(B)  

(C)  

(D) 

10. 

1
F  

(A) 0 (B) 1 

(C) 3 (D) 9 
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11. A- B-

 4 × 1 = 4 

A  B  

(A)  (i)  

(B) 

 

(ii)  

(C)  (iii)  

(D)  (iv)  

 (v)  

 (vi)  

 (vii)  

 7 × 1 = 7 

12.  

13.  

14. 

 

15. 

16. 

 

 

17.  

18.  
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 16 × 2 = 32 

19. 
1

R ,  
2

R  
3

R  

20. 

21. 

 

22. 

 (i)  (ii)  

23. 

24. 

 (i)  (ii)  

25. 

 

 (i)  (ii)  
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26. 

 

27. 

 

28. 30

20

29. 

 

 (i) 

(ii)  

30. 

 

31. 400 W 8

750 W 2

30 1 kWh 3
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32. 

 

33. 

       

(i)  

(ii)  

 

34. 

 

 5 × 3 = 15 

35. 

 

(i) 
1

F
 

 

(ii) 
1

2F
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36. (i)  

 (ii) 5 

 

 

 (i) 4C  4C  

 

 (ii)  

37. 

(i)  

(ii)  

38. (i) 

 

 (ii)  

 

 (i)  

 (ii)  
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39.  

 A B C D E 

 11 4 2 7 19 

 

 

 3 × 4 = 12 

40. (i) 

 

 (ii)  

41. 

(i) 

 

(ii)  

(iii)  

 

(i)  

(ii)  

(iii)  
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42. (i) 

 

(ii) 

 

(iii)  
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